
Math 152 Sec S0601/S0602
Extra Trigonometry Problems

Problems

Graph the following trigonometric functions over [−P, P ] where P is the period of the function.
Determine the period, phase shift and amplitude.

1. f(x) = − cos
(

x +
π

4

)

− 2 .

2. y =
1

2
sin

(πx

2
− π2

)

.

3. G(t) = −2 sin (πt + π) +
1

2
.

4. y = π cos

(

2x

3
+

π

6

)

.

5. y = π sin

(

t
√

π
−

√

π

2

)

−
π

2
.

Answers

1. period 2π; phase shift −π/4; amplitude 1.

PSfrag replacements

f(x)=− cos (x+π
4
)−2

−2π 2π

−1

−2

−3
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2. period 4; phase shift 2π; amplitude 1/2.

PSfrag replacements

y= 1

2
sin(πx

2
−π2)

−4 4

1/2

−1/2

3. period 2; phase shift −1; amplitude 2.

PSfrag replacements

G(t)=−2 sin (πt+π)+ 1

2

−2 2

5/2

1/2

−3/2
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4. period 3π; phase shift −π/4; amplitude π.

PSfrag replacements

y=π cos ( 2x
3

+π
6
)

−3π 3π

π

−π

5. period 2π3/2; phase shift π/2; amplitude π.

PSfrag replacements

y=π sin
“

t
√

π
−

√

π
2

”

−

π
2

−2π3/2 2π3/2

π/2

−3π/2

p. 3 of 3


